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NEW QUESTION 1
Which of the following best describes the TOGAF Technical Reference Model?

A. Itis a detailed data model that can be tailored to specific industries

B. It is an example of a Common Systems Architecture

C. It is a fundamental architecture upon which more specific architectures can be based

D. It is a model of application components and application services software, including brokering applications

Answer: C

NEW QUESTION 2
Which one of the following statements about TOGAF Building Blocks is NOT true?

A. They should not be reused in other enterprise architecture projects

B. They should have stable, published interfaces that allow other building block to interoperate with them
C. They are packages of functionality intended to meet the business needs across the organization

D. They have defined boundaries

Answer: A

NEW QUESTION 3
Which of the following is the architecture domain that describes the logical software and hardware capabilities?

A. Application Architecture
B. Business Architecture
C. Data Architecture

D. Technology Architecture

Answer: D

NEW QUESTION 4
Complete the sentence. As the architecture evolves, the assets in the Solutions Continuum progress towards a (n)

A. Common Systems Architecture

B. Industry Specific Architecture

C. Foundation Solution

D. Organization Specific Solution

E. Technology Neutral Implementation

Answer: D

NEW QUESTION 5
Which one of the following statements best describes why the ADM should be adapted?

A. To align it closer to the business

B. To make the use more realistic

C. To move through the cycle faster

D. To suit the specific needs of the enterprise

Answer: D

NEW QUESTION 6
Which one of the following provides a foundation for making architecture and planning decisions, framing policies, procedures, and standards, and supporting
resolution of contradictory situations?

A. Architecture principles
B. Buy lists

C. Procurement policies
D. Requirements

E. Stakeholder concerns

Answer: A

NEW QUESTION 7

Which of the following TOGAF components was created to enable architects to design architectures addressing Boundaryless Information Flow?
A. The Architecture Repository

B. The Enterprise Continuum

C. The Integrated Information Infrastructure Model

D. The TOGAF Technical Reference Model

Answer: C
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NEW QUESTION 8
According to TOGAF, when creating views for a particular architecture, What is the recommended first step?

A. Design a viewpoint to address all stakeholder concerns

B. Develop views for the target architecture first

C. Ensure completeness of the architecture

D. Refer to existing libraries of viewpoints, to identify one for re-use

Answer: D

NEW QUESTION 9
What part of the Architecture Repository holds specifications toWhich architectures must conform?

A. Standards Information Base
B. Enterprise Continuum

C. Governance Log

D. Architecture Landscape

E. Reference Library

Answer: A

NEW QUESTION 10
According to the TOGAF Document Categorization Model, Which category is for resources NOT referenced by content within the other categories?

A. TOGAF Core

B. TOGAF Extension

C. TOGAF Mandatory

D. TOGAF Recommended
E. TOGAF Supporting

Answer: E

NEW QUESTION 10
What class of architectural information within the Architecture Repository defines processes that support governance of the Architecture Repository?

A. Architecture Capability
B. Architecture Landscape
C. Architecture Metamodel
D. Governance Log

E. Reference Library

Answer: A

NEW QUESTION 12
Which pair of the following responses best completes the sentence? Architecture building blocks , where as Solution Building blocks

A. are assembled; are single function components

B. are single function components; are groups of architecture building blocks
C. are reusable; are not reusable

D. define the architecture; provide the existing legacy system

E. define functionality; define the implementation of functionality

Answer: E

NEW QUESTION 17
Which one of the following is NOT part of the approach to Phase H — Architecture Change Management?

A. Business Scenarios

B. Capacity Measurement

C. Change Management

D. Measuring Business Growth

Answer: A

NEW QUESTION 21

According to TOGAF, the recommended dimensions used to define the scope of an architecture include all the following, except:
A. Architecture Domains

B. Enterprise Focus

C. Level of Detall

D. Subject Matter

E. Time Period

Answer: D
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NEW QUESTION 26
Which phase of the ADM is an on-going activity that is visited throughout a TOGAF architecture project?

A. Architecture Change Management
B. Implementation governance

C. Migration planning

D. Preliminary Phase

E. Requirements Management

Answer: E

NEW QUESTION 29
Which of the following describes the Architecture Vision document?

A. A description of individual change increments showing progression from the baseline to target architecture

B. A detailed schedule for implementation of the target architecture

C. A high level description of the baseline and target architectures

D. A joint agreement between the development team and sponsor on the deliverables and quality of an architecture
E. A set of rules and guidelines to support fulfilling the mission of the organization

Answer: C

NEW QUESTION 32
In Phase G, What document establishes the connection between the architecture organization and the implementation organization?

A. Architecture Contract

B. Architecture Landscape

C. Architecture Roadmap

D. Requirements Impact Statement
E. Transition Architecture

Answer: A

NEW QUESTION 37
Which component within the Architecture Repository holds best practice or template materials that can be used to construct architectures?

A. Architecture Capability
B. Architecture Landscape
C. Architecture Metamodel
D. Governance Log

E. Reference Library

Answer: E

NEW QUESTION 39
Complete the sentence. According to TOGAF, all the following are responsibilities of an Architecture Board, except .

A. Allocating resources for architecture projects

B. Decision making for changes in the architecture

C. Enforcing Architecture Compliance

D. Improving the maturity of the organization's architecture discipline
E. Production of governance materials

Answer: A

NEW QUESTION 44
According to TOGAF, Which one of the following best describes an enterprise architecture?

A. An architecture of a commercial organization

B. An architecture that consists of more than one subsidiary company

C. An architecture that crosses multiple systems, and multiple functional groups within the enterprise
D. The highest level of architecture that can be achieved in a given organization

Answer: C

NEW QUESTION 49

According to the TOGAF Document Categorization Model, Which category describes a technique that is referenced by processes categorized as TOGAF Core and
TOGAF Mandated?

A. TOGAF Guidelines and Techniques

B. TOGAF Recommended

C. TOGAF Supporting

D. TOGAF Extension

Answer: B
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NEW QUESTION 50

According to TOGAF, Which of the following best describes the classification of architectural change in the case where multiple server systems are being

consolidated to a single system?

A. A bottom-up change to enhance operational capability

B. An incremental change handled via change management techniques

C. Are-architecting change that puts the whole architecture through an ADM cycle
D. A revision change of the enterprise architecture

E. A simplification change handled via change management techniques

Answer: E

NEW QUESTION 54

According to TOGAF, Which of the following best describes the purpose of a Compliance Assessment?
A. To ensure that architecture information is communicated to the right stakeholders at theright time

B. To govern the architecture throughout its implementation process

C. To provide a high-level view of the end architecture product

D. To show progression of change from the Baseline Architecture to the Target Architecture

Answer: B

NEW QUESTION 58

Complete the sentence. The Integrated Information Infrastructure Reference Model (I1I-RM) is an example of a (n) Architecture reference model

A. Application
B. Business
C. Data

D. Technology

Answer: A

NEW QUESTION 61

According to TOGAF, Which of the following best describes Architecture Governance?

A. A categorization mechanism for architecture and solution artifacts

B. A framework for operational and change activity

C. A method for designing an information system in terms of a set of building blocks

D. The lifecycle management of information and related technology used by an organization

E. The practice by which enterprise architectures are controlled at an enterprise-wide level

Answer: E

NEW QUESTION 66

Which one of the following is recommended to define requirements and articulate the Architecture Vision created in Phase A?

A. Business scenario

B. Impact analysis

C. Mission statement

D. Requirements analysis
E. Solution architecture

Answer: A

NEW QUESTION 69

Complete the sentence. A server consolidation project that does not change the operating characteristics of the applications would require .

A. a complete ADM cycle

B. a complete re-architecting change

C. a full revision of the enterprise architecture
D. an incremental change

E. a simplification change

Answer: E

NEW QUESTION 71

Complete the sentence. All of the following are parts of the conceptual structure of the TOGAF Architecture Governance Framework, except

A. Content

B. Context

C. Process Flow Control
D. Repository

E. Vision

Answer: E
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NEW QUESTION 73
Which of the following architectures in the Architecture Continuum contains the most re- usable architecture elements?

A. Common Systems Architectures

B. Foundation Architectures

C. Industry Architectures

D. Organization-Specific Architectures

Answer: B

NEW QUESTION 77
Which one of the following is an objective of the Preliminary Phase of the ADM?

A. To define the Baseline Architecture for this cycle of the ADM
B. To define the application systems for the Target Architecture
C. To define the framework and methodologies to be used

D. To define the relevant stakeholders and their concerns

E. To define and prioritise work packages

Answer: C

NEW QUESTION 79
Complete the sentence by selecting the applicable pair of words. According to TOGAF, a/an is used to describe the of a stakeholder.

A. activity model, perspective

B. viewpoint, requirements

C. view, concerns

D. Node Connectivity Diagram, interconnections
E. Architecture trade-off analysis, constraints

Answer: C

NEW QUESTION 81
Which phase of the ADM is used to finalize a set of transition architectures that will support implementation?

A. Phase D
B. Phase E
C. Phase F
D. Phase G
E. Phase H

Answer: C

NEW QUESTION 82
Which one of the following is a key objective of Phase A of the TOGAF ADM?

A. To create a roadmap that describes the evolution of the architecture over time
B. To prepare a Solution Architecture for the enterprise

C. To define an IT Strategy that maps out the technology infrastructure

D. To allocate the resources needed to implement the architecture project

E. To articulate an Architecture Vision

Answer: E

NEW QUESTION 87
Which of the following is a re-usable artifact that is used to create architecture models addressing stakeholder concerns?

A. Catalog
B. Matrix

C. Diagram
D. View

E. Viewpoint

Answer: E

NEW QUESTION 90

Which of the following describes the TOGAF classification in Phase H for a simplification change?

A. A change driven by a requirement to derive additional value from the existing investment

B. A change driven by a requirement to increase investment in order to create new value for exploitation
C. A change driven by a requirement to reduce investment

D. A change driven by a requirement to re-align with the business strategy

E. A change driven by a requirement to simplify communication between stakeholders

Answer: C
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NEW QUESTION 94
Which of the following best describes the TOGAF Architecture Governance Framework?

A. An approach to ensure the effectiveness of an organization's architectures

B. An architecture of building blocks and corresponding standards, together with associated graphics

C. An example set of Architecture Principles
D. A reference model that includes information provider applications and brokering applications
E. A model intended to assist with the release management of the TOGAF specification itself

Answer: A

NEW QUESTION 95
Which of the following does TOGAF recommend for use in developing the Architecture Vision?

A. Architecture principles

B. Business scenarios

C. Business Transformation Readiness Assessment
D. Capability-based planning

E. Gap analysis

Answer: B

NEW QUESTION 99
Which of the following best describes the Integrated Information Infrastructure Reference Model?

A. It can be used to determine the capability level of an enterprise
B. Itis a deliverable from Phase A

C. Itis an Application Architecture Reference Mode!

D. It provides a conceptual structure for architecture governance
E. It supports all the Common Systems Architectures

Answer: C

NEW QUESTION 102

In Phases B, C, and D which is the first step in each phase?
A. Conduct formal stakeholder review

B. Create Architecture Definition Document

C. Define Roadmap components

D. Perform gap analysis

E. Select reference models, viewpoints and tools

Answer: E

NEW QUESTION 105

Complete the sentence. TOGAF 9 Part Il provides a set of resources that can be used to adapt and modify the .

A. Architecture Capability

B. Architecture Development Method
C. Architecture Landscape

D. Architecture Repository

E. Enterprise Continuum

Answer: B

NEW QUESTION 107

When using a cycle of the ADM to establish an Architecture Capability as described in TOGAF Part VII, Which architecture would describe the infrastructure

requirements?

A. Application Architecture
B. Business Architecture
C. Data Architecture

D. Technology Architecture
E. Transition Architecture

Answer: D

NEW QUESTION 111

Which of the following best describes the purpose of the Statement of Architecture Work?
A. It contains an assessment of the current architecture requirements

B. It defines the scope and approach to complete an architecture project

C. Itis sent from the sponsor and triggers the start of an architecture development cycle
D. It provides a high-level aspirational view of the end architecture project

E. It provides a schedule for implementation of the target architecture

Answer:
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B

NEW QUESTION 114
Which one of the following best describes an Architecture Compliance Review?

A. A review of an architecture project against established criteria and business objectives
B. A review of the plans for enterprise transformation

C. A review of the ability to share information and services

D. A review of the readiness of an organization to accept change

E. A review to highlight the shortfall between baseline and target architectures

Answer: A

NEW QUESTION 116
TOGAF Part VII, Architecture Capability Framework recommends use of an ADM cycle for establishing an architecture practice. In this scenario which architecture
would describe the organizational structure for the architecture practice?

A. Application Architecture
B. Business Architecture
C. Data Architecture

D. Technology Architecture

Answer: B

NEW QUESTION 121
TOGAF uses a version numbering convention to illustrate the evolution of the Baseline and Target Architecture Definitions. Which version number in this
convention indicates a formally reviewed, detailed architecture?

A. Version 0.1
B. Version 0.5
C. Version 0.9
D. Version 1.0
E. Version 1.5

Answer: D

NEW QUESTION 123
Complete the sentence. According to TOGAF, a view is used to describe how the of a stakeholder are being met.

A. concerns

B. constraints
C. interests

D. perspective
E. requirements

Answer: A

NEW QUESTION 125
Which of the following best describes the concept of Boundaryless Information Flow?

A. Enabling the vision of an integrated information infrastructure

B. Getting information to the right people at the right time in a secure, reliable and timely manner
C. Enabling effective global communications between countries

D. Enabling the flow of information to all stakeholders

E. Providing a visual representation of information provider, consumer and brokering applications

Answer: B

NEW QUESTION 128
Which of the following best describes the TOGAF classification in Phase H for a re- architecting change?

A. A change driven by a requirement to derive additional value from the existing investment

B. A change driven by a requirement to increase investment in order to create new value for exploitation
C. A change driven by a requirement to reduce costs

D. A change driven by a requirement to reduce investment

E. A change driven by a requirement to re-align with the business strategy

Answer: B

NEW QUESTION 133

Which of the following does TOGAF describe as "a formal description of a system, or a detailed plan of the system at component level to guide its
implementation”?

A. Architecture

B. Artifact
C. Deliverable
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D. Model
E. View

Answer: A

NEW QUESTION 138
Complete the sentence by selecting the applicable pair of words. A/an is used in Phase A to help identify and understand business that the architecture has to
address.

A. activity model, perspective

B. business scenario, requirements

C. use case, interconnections

D. view, concerns

E. business transformation readiness assessment, constraints

Answer: B

NEW QUESTION 142
Which ADM phase establishes the connection between the architecture organization and the implementation organization through the Architecture Contract?

A. Phase E
B. Phase F
C. Phase G
D. Phase H
E. Requirements Management

Answer: C

NEW QUESTION 144
Which one of the following is an objective of Phase A, Architecture Vision?

A. Defining architecture principles

B. Defining relationships between management frameworks
C. Defining the enterprise

D. Evaluating the enterprise architecture maturity

E. Identifying stakeholders and their concerns

Answer: E

NEW QUESTION 146
Which of the following best describes an approach for adapting the ADM in the situation where business principles dictate that a packaged solution be used?

A. Completion of the Business Architecture should follow the Information Systems Architecture

B. Create an Architecture Vision and then a detailed Business Architecture

C. Produce a "cut-down" version of the ADM suitable to the resources available

D. Tailor the ADM in conjunction with another architecture framework that has deliverables specific to the vertical sector

E. Tailor the ADM to reflect the relationships with, and dependencies on other management processes within the organization

Answer: A

NEW QUESTION 149
Complete the sentence. The Architecture Landscape is divided into three levels, Capability,
Segment, and .

A. Baseline
B. Solution
C. Strategic
D. Target

E. Transition

Answer: C

NEW QUESTION 151

In which phase of the ADM cycle do building blocks become implementation-specific?
A. Phase A

B. Phase B

C. Phase C

D. Phase D

E. Phase E

Answer: E

NEW QUESTION 153
Which of the following best describes the need for the ADM process to be governed?
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A. To build a top-down, all inclusive architecture description
B. To enable development of reference architectures

C. To enable the architecture domains to be integrated

D. To ensure that the method is being applied correctly

Answer: D

NEW QUESTION 155
Complete the sentence. The Requirements Management process is used to .

A. develop requirements for Transition Architectures that deliver business value
B. dispose of, address and prioritize architecture requirements

C. organize architecture requirements throughout the ADM cycle

D. review business requirements

E. validate requirements between ADM phases

Answer: C

NEW QUESTION 156

Complete the sentence. The TOGAF Architecture Governance Framework includes .
A. a list of responsibilities for running an Architecture Board

B. a model for governance including process, content and context

C. guidance for establishing an Architecture Capability using the ADM

D. the Architecture Compliance review process and checklists

Answer: B

NEW QUESTION 160

According to TOGAF, Which of the following activities is described as part of the approach in the Preliminary Phase of the ADM?

A. Creating the Architecture Vision deliverable

B. Defining a set of Architecture Principles

C. Developing an Architecture Contract

D. Extending the business scenario with business modeling
E. Preparing a consolidated Gap Analysis

Answer: B

NEW QUESTION 164

Which of the following best describes a purpose of the Business Scenarios technique?

A. To catch errors in a project architecture early

B. To guide decision making throughout the enterprise

C. To help identify and understand requirements

D. To highlight shortfalls between the baseline and target architectures
E. To mitigate risk when implementing an architecture project

Answer: C
NEW QUESTION 166
According to TOGAF, Which of the following best describes an Architecture Pattern?

A. A detailed description of the interfaces between building blocks
B. An implementation specific solution building block

C. A package of functionality defined to meet the business needs of the organization.

D. A way to put building blocks together into context
E. A work product describing an aspect of an architecture

Answer: D

NEW QUESTION 171

According to TOGAF, Which of the following steps in Phases B, C, and D occurs before development of the baseline or target architectures?

A. Conduct formal stakeholder review

B. Create Architecture Definition Document

C. Define Roadmap components

D. Perform gap analysis

E. Select reference models, viewpoints and tools

Answer: E

NEW QUESTION 176
In Phases B, C, and D which is the final step in each phase?
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A. Conduct formal stakeholder review

B. Create Architecture Definition Document

C. Define Roadmap components

D. Perform gap analysis

E. Select reference models, viewpoints and tools

Answer: B

NEW QUESTION 179
Which of the following is an objective of the Preliminary Phase?

A. Develop the Architecture Vision document

B. Draft the Implementation and Migration Plan

C. Ensure conformance requirements for the target architecture are defined
D. Establish the Organizational Model for enterprise architecture

E. Operate the governance framework

Answer: D

NEW QUESTION 182
Complete the sentence. All of the following describe a purpose of an Architecture Compliance review, except .

A. determining the technical readiness of a project

B. ensuring the application of best practices

C. identifying business transformation risks for an architecture project
D. identifying errors in an architecture project

E. identifying where architecture standards require modification

Answer: C

NEW QUESTION 183
Complete the sentence. The Enterprise Continuum provides methods for classifying architecture artifacts as they evolve from

A. Foundation Architectures to re-usable architecture assets
B. generic architectures to Oganization-Specific Architectures
C. generic solutions to Industry Models

D. generic architectures to reusable Solution Building Blocks
E. Solutions Architectures to Solution Building Blocks

Answer: B

NEW QUESTION 186
Complete the sentence. The Architecture Landscape is divided into three levels, Strategic, Segment and .

A. Baseline
B. Capability
C. Solution
D. Target

E. Transition

Answer: B

NEW QUESTION 191
Which model within TOGAF is closely related to the concept of Boundaryless Information Flow?

A. The ARTS data model

B. The Architecture Governance Framework

C. The Enterprise Continuum

D. The Integrated Information Infrastructure Model
E. The TOGAF Technical Reference Model

Answer: D

NEW QUESTION 194

Which of the following is defined by TOGAF as a representation of a system from the perspective of a related set of concerns?
A. Architecture Building Block

B. Capability Architecture

C. Statement of Work

D. View

E. Viewpoint

Answer: D

NEW QUESTION 197
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Complete the sentence. TOGAF covers the development of four architecture domains, Application, Business, Data and .

A. Capability
B. Segment
C. Technology
D. Transition
E. Vision

Answer: C

NEW QUESTION 202
Which of the following is described by the TOGAF Architecture Content Framework as a type of artifact that shows lists of things?

A. Building Block
B. Catalog

C. Diagram

D. Matrix

E. Deliverable

Answer: B

NEW QUESTION 203
Which of the following describes en objective of the Preliminary Phase?

A. Develop a vision of the proposed enterprise architecture
B. Document the baseline architecture

C. Obtain approval for the Statement of Architecture Work
D. Operate the governance framework

E. Select and implement tools

Answer: E

NEW QUESTION 204
Complete the sentence. According to TOGAF, a is a representation of a system from the perspective of a related set of .

A. view, concerns

B. viewpoint, views
C. view, requirements
D. view, stakeholders

Answer: D

NEW QUESTION 205
In which of the following ADM Phases do building blocks become implementation-specific?

A. Phase A
B. Phase B
C. Phase C
D. Phase D
E. Phase E

Answer: E

NEW QUESTION 208
Which one of the following is responsible for the acceptance and sign-off of an Architecture Compliance review?

A. Architecture Board

B. Architecture Review Co-ordinator
C.CIO

D. Lead Enterprise Architect

E. Project Leader

Answer: A

NEW QUESTION 209

Complete the sentence: TOGAF provides a set of reference materials for establishing an architecture function within an organization known as the .
A. Architecture Capability Framework

B. Architecture Content Framework

C. Architecture Landscape

D. Architecture Repository

E. Architecture Roadmap

Answer: A

NEW QUESTION 211
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Which ADM Phase includes obtaining approval for the Statement of Architecture Work?

A. Preliminary Phase

B. Phase A: Architecture Vision

C. Phase B: Business Architecture

D. Phase F: Migration Planning

E. Phase G: Implementation Governance

Answer: B

NEW QUESTION 216

Which of the following best describes the meaning of "Initial Level of Risk" in Risk Management?
A. The categorization after implementation of mitigating actions

B. The categorization after initial risk assessment

C. The categorization after mitigation and residual risk assessment

D. The categorization before determining and implementing mitigating actions

E. The categorization before risk identification

Answer: D

NEW QUESTION 217

Which one of the following categories from the Document Categorization model consists of the normative parts of TOGAF which are considered central to its

usage?

A. TOGAF Core

B. TOGAF Mandated

C. TOGAF Recommended
D. TOGAF Referenced

E. TOGAF Supporting

Answer: B

NEW QUESTION 222

Complete the sentence. The Architecture Development Method produces content to be stored in the Repository, Which is classified according to the .

A. ADM Guidelines and Techniques
B. Architecture Capability Framework
C. Architecture Capability Model

D. Enterprise Continuum

E. Standards Information Base

Answer: D

NEW QUESTION 223

Which one of the following is considered a relevant architecture resource in Phase D?
A. Generic application models relevant to the organization's industry sector

B. Generic business models relevant to the organization's industry sector

C. Generic data models relevant to the organization's industry sector

D. Generic technology models relevant to the organization's industry sector

Answer: D

NEW QUESTION 227
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